
 

 

Fig 1 

1.A cantilever plate: the length 300mm, the width 200mm, the thickness 6mm; the clamped end 

dimension : the length 60mm, the width 50mm, the thickness 6mm.(see Fig 1)  

2. The Young’s modulus 56e9 Pa, the Poisson’s ration 0.3, the density 2646kg/m^3. 

3. Simulation the transfer function in the frequency domain, giving a hammer force 100N to the 

point 5, getting the acceleration response in the point 2. (See Fig 2) 

How to get? 

 
Fig 2 

 

4. The simulation result looks like the Fig 3 



 
Fig 3 

 

 

I get some answers from the forum but I can not get final correct result. My process as follows: 

1. First give step function;  

2. Study in the time dependent; 

How to do in the next step, I don’t know? 
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